
TECHNICAL DATA

APPLICATIONS CROSS REFERENCES

Nominal voltage 12V
Rated output 1,7kW
Rated speed 1 500min
Static torque 15Nm

Pinion teeth number 10
Module 2,1167
Pressure angle 12°
Weight 3,0kg

1. AUDI
2. FORD
3. SEAT
4. Škoda
5. VW

Bosch 0 001 124 001; 0 001 124 002
0 001 125 007
0 986 016 980

Delco Remy DRS6980
Lucas LRS00977
Valeo 455927

HC Parts CS 974
Hella 8EA 737 147-001

FORD 95VW 11000 CB
95VW 11000 GA

VW 02A 911 023 J; 02A 911 024
02A 911 024 D

-1

IMPORTANT DIMENSIONS TO FIT ON ENGINE

STARTER MOTOR 9141 414

09 / 2012

, Hulínská 1799/1, 767 01 Kroměříž, Czech RepublicMAGNETON a.s.
Tel: +420 573 592 255; Fax: +420 573 331 239; e-mail: marketing magneton.cz; www.magneton.cz@

http://www.magneton.cz


BRAND MODEL ENGINE PRODUCTION YEAR
TYPE kW PS ccm

Použití spouštěče
Applications of starter motor 9141 414

9141 414 Strana 2 / 3
Page

AUDI

FORD

SEAT

ŠKODA

VW

A2 1.4 TDI 55 75 1 422 02/00 - 08/55
AUDI A2 1.4 TDI 66 90 1 422 11/03 - 08/55

Galaxy 2.3 16V 107 146 2 295 01/97 -
FORD Galaxy 2.8i V6 128 174 2 792 11/95 - 04/00
FORD Galaxy 2.8i V6 4x4 128 174 2 792 04/96 - 04/00

AROSA 1.4 TDI 55 75 1 422 01/00 - 06/04
SEAT Cordoba 1.2 47 64 1 198 10/02 -
SEAT Cordoba 1.4 TDI 55 75 1 422 10/02 -
SEAT Ibiza 1.4 TDI 55 75 1 422 05/02 -

Fabia 1.4 TDI 55 75 1 422 04/03 -
ŠKODA Fabia Combi 1.4 TDI 55 75 1 422 04/03 -
ŠKODA Fabia Limusine 1.4 TDI 55 75 1 422 04/03 -

Lupo 1.4 TDI 55 75 1 422 04/03 -
VW Passat 1.6 TD 59 80 1 588 08/88 - 09/93
VW Passat Variant 1.6 TD 59 80 1 588 08/88 - 09/93
VW Polo 1.4 TDI 55 75 1 422 10/99 - 09/01
VW Polo 1.4 TDI 55 75 1 422 10/01 -
VW Polo Limusine 1.4 TDI 55 75 1 422 07/03 -



1.0 Víko přední . . . . . . . . . . . . . . . . . . . . Cat. No. 1655140
Front cover

2.0 Náhon pastorku . . . . . . . . . . . . . . . . . . . . Cat. No
Pinion drive

2.1 Hřídel pastorková . . . . . . . . . . . . . . . . . . . . Cat. No. 3371370
Pinion shaft

2.2 Ložisko . . . . . . . . . . . . . . . . . . . . Cat. No. 324162032
Bearing

2.3 Ložisko . . . . . . . . . . . . . . . . . . . . Cat. No. 324165016
Bearing

2.4 Volnoběžka . . . . . . . . . . . . . . . . . . . . Cat. No. 7150970
Clutch

3.0 Víko převodové . . . . . . . . . . . . . . . . . . . . Cat. No. 6954940
Gear bracket

4.0 Spínač sestavený . . . . . . . . . . . . . . . . . . . . Cat. No. 7153042
Contactor assy

4.1 Víčko sestavené . . . . . . . . . . . . . . . . . . . . Cat. No. 7152810
Lid assy

5.0 Kotva sestavená . . . . . . . . . . . . . . . . . . . . Cat. No. 7154122
Armature assy

6.0 Stator s držákem kartáčů . . . . . . . . . . . . . . . . . . . . Cat. No. 7155351
Stator with brush holder

7.0 Víko zadní . . . . . . . . . . . . . . . . . . . . Cat. No. 1658400

. 7153580

Rear bracket

Poznámka
Note

1. Spínač sestavený je dodáván včetně 2ks šroubů M5x14.
Contactor assy will be supplied with 2 pcs screw M5x14.

2. Víko převodové je dodáváno včetně ložiska 6002 2Z a ucpávky.
Gear bracket will be supplied with bearing 6002 2Z and sealing.

3. Pastorková hřídel je dodávána včetně pružiny, zajišťovacího a pojistného kroužku.
Pinion shaft will bw supplied with shoting spring, stop ring and lock ring.

Náhradní díly spouštěče
Spare parts of starter motor 9141 414

9141 414 Strana 3 / 3
Page

1.0 2.0

5.0

4.0 4.13.0

6.0 7.02.22.1 2.3 2.4


